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ASSIGNMENT 1
B.A/B.Sc. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

Mathematics

Paper III — RINGS AND LINEAR ALGEBRA
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Explain about Cancellation law in a ring R

S500H3N R & 576356 5ot D3Bow.

Show that a field has no Zero divisors.
é\@é;&» %P?éesepf’&é BIPSBH30D ST,

Show that every field is an integral domain.
98 FBI0 JroE (BFERD SIHSo0.

Show that the homomorphic image of a Commutative ring is a Commutative ring.
2.8 DA0D HO0PAS F0EIPHT® (D020, &8 DDLDAD HOODEA WSI*E)0.

Define Linear Span. Prove that L(S) is a subspace of V(F).
200088 DSBYD B0, 3BT ¥o V(F) H L(S) &8 edrodo°do & FleS i Toth ol

Determine whether or not the following vectors form a basis of R® (1,1,2), (1,2,5), (5,3,4).
R3&° (1,1,2), (1,2,5), (5,3,4) S38%ew ST BT BE 8308%) 0.



(DBMAT31)

ASSIGNMENT 2
B.A/B.Sc. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

Mathematics

Paper III — RINGS AND LINEAR ALGEBRA
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Derive Rank and Nullity of T
Nlehletvy §%63 20Baw JBIBe roaoge T o 3.)65{’.)01:50&.

Prove that the two matrices A and C~1AC have the same characteristic roots.

3ot B8 4, CTLAC ev a8 er8ed¥ Suorerodn SOR GoeTahd) Smdot.

2.
3.
(b)
4. (a)
(b)

@ O

(i1)
(@)
(i1)
(@)
(i1)

(@)

(i1)

(@)

(i1)

(@)
(i1)

Show that a finite integral domain is a field.

Show that the intersection of two sub-rings of a ring R is a sub-ring of R.
DB Hroros (DEBBB00, &8 K0 SIPHI0.

500030 R 8 Both &550057°0 P30 R 8 &55000:50M0R009 S,

Define Kernal of a homomorphism on rings.

If R is a commutative ring with unit element and M is an ideal of R, then M is a
maximal ideal of R iff R/M 1is a field.

3OADIRETHE TESE (@08950) B DEG0DB,
DS e $Dobood DISAH Sechin R 508050 M £&ahé R § M efss
DEAOS @IHe% ess, Ho°g DAL RM 2.8 Ee00,

Prove that a set of vectors which contains the zero vector O is linearly dependent.

Prove that a system consisting of a single non-zero vector is always linearly
independent.

HRIGOBE 0 S00E50T EDRD (98 387 DB 210erITRHD SIHod.
28 28 MY DY Lrardreceo|Ey SNBD HYEBDD W50

If w be a subspace of finite dimensional vector space V(F), then prove that dim (%) =
dimV —dimW

SB0H HB5rer  $OToBT e V(F) édrosTodsn  eond dim( ):dimV—dimW
) J°H0k.
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(b)

(@)

(i1)

(@)

(i1)
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(i1)

2 -1 1

Find the characteristic equation of the matrix A =|—-1 2 —1] and verify that

1 -1 2
it is satisfied by A.
3.1 1
Find A™'ifA=|2 4 2]
113
(2 -1 1
A=|-1 2 —1| B8 Bw¥), orERE SWESE0 E08°,08. & erEedS
1 -1 2
BEBEIBN A D02 SHROEA SrHos.
3 1 1
A=2 4 2| @ond A D EDS 0k,
1 1 3
132 1
Find the rank of the matrixA=[2 4 5 3
4 6 6 12

State and prove Cayley-Hamilton theorem.

132 1
A=2 4 5 3| 50788 Aoy, 53D 508 &.
4 6 6 12

39 - 2209 AFLosBO (H5V0D ATHosod.

State and prove Cauchy-Schwarz's inequality theorem.

If R = {(2,1,3),(1,2,3),(1,1,1)} is a basis of R3, construct an orthogonal basis.

§° - @e‘sé 9IS ?oz%"oeémm (DR DBITCD0DDN.

R33% R ={(2,1,3),(1,2,3),(1,1,1)} 2 es5°58:00008 2,5 ©0278)e02) 55T AGyosod.

State and prove Bessel's Inequality.

Find a unit vector orthogonal to (4,2,3) in R3interval.

B35y OIZTISD 70 DETD0WIN.

R? @0080°308° (4,2,3) SE¥H 0020 &0 areded 98E E05° 08.




ASSIGNMENT 1

BA DEGREE EXAMINATION, DECEMBER 2020.

Third Year
Mathematics

Paper — IV : NUMERICAL ANALYSIS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Construct finite forward difference table for the function y = x3.

y = x3 (50108 58S HE KD S HEE% DBo30E.

()
(b)
()
(b)

Define averaging operator p.

Define Shift operator.

Averaging Operator u &0 Désﬁobo&.
Shift operator & 36530150&.

Evaluate (a) A sin(px + q) (b) A(e®**?)
(a) A% sin(px + q) (b) A(e¥ D) © ey E08%) 0b.

Find the missing term in the following data

X

0

11234

y

1

319|-1|81

881808

BES°D 20D grdon E8E,08.

X

0

4

y

1

W= 2c

2
91- 181

Explain Iteration method

A HZBD D9Bosod.

Write Evertt's formula

D5y ARy [Feohod:.
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ASSIGNMENT 2
BA DEGREE EXAMINATION, DECEMBER 2020.
Third Year

Mathematics

Paper — IV : NUMERICAL ANALYSIS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Explain simpson's % rule

?00&’){35‘3 %th rule 0 DHBoVoE.

Explain Matrix inverse method.

B85 DS’ DB DSBoSos.

3. (a) (1) State and prove Newton's Forward interpolation formula.

(b)

(b)

1) Ifuo=1,u=0,u; =5u3 =22,u4 =57.Find ugs.
() 0meody HB KD 08B R (@) 950D DETD0B0E.
(11) Ho = 1,[.[1 = 0,[.12 = 5,[.13 = 22,[.[4 =57 @Q)Jé Hos VDD é?&)gsboaa.

(1) State and prove Lagranses interpolation formula.

(i) Using divided difference table, find f(x), which takes the values 1, 4, 40, 85 at
x=0,1,3,4.

(i) Brod ©osdEs W) HHV0D Arvosod.
(i) x=0134 58 f(x)=1,440,85 9008  JgTeede S5eegd  (difference) S8 weeoe
£ (), o 8208° 0é.

State and prove Gauss Forward Interpolation formula.
PR DB0R ©08BeES JUm@EeR) (H5D0D ASTDoB0é.

(1)  Use stirling formula to find y,, given y; = 5225, y, = 4316, y;; = 3256, y,, = 1926,

y21 = 306.
(1) Find the value of y;5, using Bessle's formula if y;, = 2854, y,, = 3162, y;53 = 3544,
Vo2 = 3992.

(i) y1=15225,ys = 4316, y1; = 3256, y10 = 1926, y1 = 306 @035y RBoR Sy
GIAPROD Y, DeVID L3085 08,

(i) Y10 = 2854, y14 = 3162, y15 = 3544, ¥, = 3992 ©00d Ty W E-R) &5GER0D
Y15 D00 E08°) 08,



(a)

(b)

(a)

(b)

Using Romberg's integration, Calculate | ol/zsixm dx correct to 4 decimal places.

U"om? AITPEO fol/zi dx Q 4 decimal @sa"e)ess Calculate 3a00é&.

sin x

Evaluate f01 V1 + x* dx using Simpson's %' rule.

f01 V1 +xt dx 0 205y0y % rule orqoe $08°) 0é.

(i)  Find root of the equation x3 — x — 1 = 0 by Bisection method.

(11) Find a real root of x = e™* by iteration method.

()  Bisection 558 e x% —x—1 =0 WEBE &8 TS 980 5208 06
(i) =B DE gOe x = e7F B 28 T ST EROAROB.

Solve the following equations by Gauss-Sidel method.
10x; — 2%y — X3 — x4 = 3
—2x1 4+ 10x; —x3 — x4, = 15
—X1 — Xy +10x3 — 2x, = 15
—X1 — Xy — 2x3 + 10x4 = —9.
(Correct to 3 decimal places).
So808 SEBePORD R0 - ABS 5GBS ToTe A-Fosod.
10x; — 2%y — X3 — x4 = 3
—2x; + 10x, — x3 —x, = 15
—Xq — Xy +10x3 — 2x4 = 15
—X1 — Xy — 2x3 + 10x4 = —9.

(Correct to 3 decimal places).
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ASSIGNMENT 1
B.A DEGREE EXAMINATION, DECEMBER 2020.
Third Year
Statistics

Paper — III : Applied Statistics
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

(a) Distinguish between census and sample survey.
?\)Ebi) S0BaA [HIBEID 38‘3 e FEITOR) Ds00.

(b) Obtain the variances of the estimated mean in proportional and optimum
allocation.
odres B ePoSBAH JerowoPed® wosT S B, DI B

TP
2

(a) Work out the analysis of variance for a two—way classification.
B85S D3 4@ DFiies DALOBW.

(b) Explain the meaning of the definition of the ANOVA.
A Q)@ K):g?(xss BE), wgéﬁ.ne) QBT O DHBoFHA0.

(a) Explain completely randomized block design.
CRD Q D5800800.

(b) Explain the statistical analysis of LSD
O.35.8 oY), Frogig¥ DIes DFBEBowS0.

(a) Construct nP and C-Charts.
nP 08a50 C- Herodd (‘3.)8&012&);3\)\).

(b) Construct X and R—Chart.
X 208050 R~ Sero Do

(a) Explain the importance of direct and indirect standarised death rates?
(D58, DB rre38 88600 (e00ggHR Beyon.

(b) What is the advantages of standardised death rates?
mgééw B0, SPgPOR BEOYID.



(a)

(b)
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(e)

(DBSTT31)
ASSIGNMENT 2
B.A DEGREE EXAMINATION, DECEMBER 2020.
Third Year
Statistics

Paper — III : Applied Statistics
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

Explain the construction and uses of life tables.
2A IeIEo DTYLaZ DAL GSBITPOR DSBOYHIN.

Explain organization of N.S.S.O.
N.8.5.0 cin¥), doyeazom DH5BoHR00.

Explain the method of moving average for determining trend in a time series
data.

308 BrEigiore $E8 oo SRS (598 563 SEBD JBosods.

Give a method of determining seasonal component of a time series.
SPORED AR0Y), 20EIOT O 0T ATB0D 2.8 SFBAZY.

What are the weighted Index Numbers?
g8 o9 Boggen TR ?

Explain any two weighted Index numbers?

AP Botd g8 A SoPOR DBBOHIL.

Mention any two uses of stratified random sampling.
I8 (DB KTres X)gé’a G0¥); BO GHATTON BOOYH0.
Define Block and Replication.

28 08050 BEIOR DBDOHIN.

Define ANOVA.
ANOVA %o 1)6530@5.».

Define the term of Experimental Error.
BEBTK G500 DBDOHB0

What is time series?
OB TP ?



®

(2

(b)

@)

V)

What is deflation of I.N?
RIPDB05Y (5350800 TR ?

What are the merits and demerits of X —Chart.
X — 560500 Gho¥, g GIgod Beoyin.

Age specific fertility rate.
SAGE 8HBD) Bew.

Write any two uses of vital statistics.

DS0PSTO B, HFT° Both SIRITTE [PV

Fixed and chain based methods.

9, (%3 073
?36 &smdagé’a, A0 358 mgaa.
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ASSIGNMENT 1
B.A. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

Statistics — IV : OPE. RES., COMP, PROGRA. AND NUME. ANALY.
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS
1. (a) Describe the transportation problem with its general mathematical
formulation.
(b) Solve the following assignment problem of maximization.
Jobs
I II 1 1v v
A 10 5 13 15 16
B 3 9 18 13 6
Employee C 10 7 2 2 2
D 7 11 9 7 12
E 7 9 10 4 12
2. (a) Solve the LPP by using graphical method.
Max z = bx; + 7,
S.T.C
X, +x, <4
3x; + 8xy < 24
10x, + 7x, < 35
and x;,x, > 0.
(b) Explain simplex method of solving LPP.
3. (a) Explain two-person zero sum game.
(b) Find the saddle point and hence solve the following .
B: B: Bs Bs Bs
Ar/3 2 4 5 6
A A|1 7 3 4 5
As| 7 2 0 3 1
As| 5 6 4 5 7
4, (a) Distinguish between CPM and PERT.

Write the rule of network construction.
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ASSIGNMENT 2
B.A. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

Statistics — IV : OPE. RES., COMP, PROGRA. AND NUME. ANALY.
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

State and Newton's backward formula.
For X =0,1, 2, 3, 4, 5, f(x) =1, 14 , 15, 5,6 . Find f(S) using forward
difference table.

Derive Weddles rule.

10
Solve I

2

dx by Simpson's rule.

+ X

Write about Regular Falsi method of False position.
Solve the following equation by Gauss method.

2x + 3y +z =14
x+2y+3z=11
4x + 3y + 3z = 17

Describe about work sheet in MS-Excel.

Explain data entry in excel.

Define slack variable

Define feasible solution

Define O.R.

Define sequencing problem

Define pay off matrix

Advantages of PERT

Write important methods of inverse interpolation
Define forward difference operator

State the fundamental principle of difference calculus

Write formula of Newton-Raphson method.



—

10.

(DBC 40)
ASSIGNMENT 1
B.A. DEGREE EXAMINATION, DECEMBER 2020.
Third Year
Computer Applications
Paper III — REPORT GENERATOR
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

(a) Write a procedure to enter and edit text in Excel worksheet.

Excel 580, H|8506" text & Jer Joedd S o8k Jer edit D%E° €3 SSOD
roHod.

(b) How can you check the spelling mistakes in Excel worksheet?

380, JBSNE” I EBS0O e DB ?

What are the formatting tips and techniques?
330N tip e0 BT JEBEL DD ?

How can you organise large projects in Excel?

Excel & o &8 ¢ @FEH05 Jor el Dx?

What is chart? Explain different types of charts.
DPEY ST D2 DD FESNSS TEOD DS3BoBod.

What is macro? Write steps to create and Run a Macro.

DB ST 3202 ETR SO DaAtned SHBan Run Bafnesd step ok [rahod.

(a) How can you add sub totals in Excel?
Excel &° sub totals o dew 3@_@6)’?

(b)  Write a procedure to create student database in Excel.
Excel & student Gerddo $airt 3o SEOR @°aHod.

What are the options in the file menu?
File 20:55°6° e option eo D ?

Give an examples for mathematical functions.
3006385 HOBIL &GO BI08.

How can you resize graphic object?
TS SPHOD Jo° BRer DI ?

How can you increase and decrease row height?
Row height (e2¢) 3000 J&))od Jer 2oB@d SoBasn der SRt ?



ASSIGNMENT 2

B.A. DEGREE EXAMINATION, DECEMBER 2020.

Third Year
Computer Applications
Paper III — REPORT GENERATOR
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Write a procedure to multi sort.
Multi sort coog) S8 (ralods.

2.What are the parts of chart?
D) B0E grTTren D ?

3.What is auto format?

€365° B0 ST D2

4.What 1s workbook?
S8, 208 e 0 ?

5.What are the applications of Excel?
Excel 33008, 9238360 NEY
6.Use of find and replace.

2068 $HB0% BHH B, EDBTHS.

7.List the options in view menu.

View 376" Ko 33355 30506

8. Write any two text functions.

AP Btk text PoEIH (Pravod.

9. What is the use of print preview?

2062 [DI5 BE), EIATHDODE3 2

10. How can you insert new worksheet?

E°8 S, DSB8 e insert s> ?

(DBC 40)
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ASSIGNMENT 1

B.A. DEGREE EXAMINATION, DECEMBER 2020.
Third Year

Computer Applications

Paper IV— DATA BASE APPLICATIONS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Discuss the different components of Access.

Access & KO DD a0 DS580506.

What are different types of form wizard? Explain in detail.

DOE 885033 Form Desrtyen 9n0e3? Jrore 9580508,

Explain how will you create a Query.

5B e SO DG DSBoB0E.

What is traditional file system?
o[BS File system eodre 202

How will you add graphics to button?
Button o< ey Jer add Srph?

Explain how will you export data to Excel.

Excel & data ® der D08 38" 2380508 ?

What is role of database?
CoeE3R ABooE), (e D20e3?

How can you edit the contents of a Table?

Table c308), content o) Jer &5J°C§JD)®J oD ?

How will you save a Query?

%8?0 Jer save DOAOE ?

What is report?
By s 0?2
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B.A. DEGREE EXAMINATION, DECEMBER 2020.

Paper IV— DATA BASE APPLICATIONS

. Why we use expression?

ASSIGNMENT 2
Third Year
Computer Applications
MAXIMUM MARKS :30

ANSWER ALL QUESTIONS

Expression ©&) Q00 6303 RE00?

What are objects?

€38500 I D ?

Explain predefined format.

Predefined 38,6058 D380S0é.

What is primary key field?
2508 wbczx%@g LISTT D 2

What is record navigation?

B5°6) ADARBE ST 2

What is database printing?
G (DOE3I0N 9T VR0 ?

What is referential integrity?
850800506 Boe3(Ae3 S D072

Define database.

TN NleKaleintele

What is table?
Table es:5re 30 ?

What is record?

B8 e D ?

(DBC41)



